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A) From a, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- A sedentary lifestyle can increase your risk of................. diseases, so it's important to stay active.
a) integral b) cardiovascular c) due d) shallow

2- The city has dedicated bike lanes to make it safer for people to .........cc...... around town.

a) honour b) make up for c) bestow d) cycle

3- Unfortunately, the ......cccoeeee. man had a bad hearing and wore a hearing aid.

a) supple b) restful c) elderly d) onerous

L 0 I o VR celebrated her 100th birthday with a big party at home .

a) centenarian b) excuse c) commentary d) expectation

.=

A) From 3, b, and ¢, choose what is required: (4 x 5 = 20 Marks )

1- Salman speaks English. Nasser speaks English, too. ( Use: Both...and )
a) Both Salman and Nasser speaks English.

b) Both Salman and Nasser are speaking English.

c) Both Salman and Nasser speak English.

2- “What are the advantages of your car?” ( Reported speech )
a) He asked me what were the advantages of my car.

b) He asked me what the advantages of my car are.

c) He asked me what the advantages of my car were.

3- “We have to respect the elderly.” ( Reported speech )
a) He said that they have to respect the elderly.

b) He said that they had to respect the elderly.

c) He said that they would have to respect the elderly.

4- My father advised me to do ( with ) all my old papers. ( Correct the preposition )
a) My father advised me to do without all my old papers.

b) My father advised me to do up all my old papers.

c) My father advised me to do away with all my old papers.
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Argumentative paragraph:
“ 0ld age is not a disease - it is a strength.”

Plan and write one paragraph of ( 6 sentences ) stating the two views concerning
geriatric homes and state your opinion.

Outline ( 5 Marks )

My Topic ( 35 Marks )
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A) From a, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- The factory workers are................ fair wages and good working conditions.

a) deprived of b) onerous c) chronic d) shallow

2- The thief tried to .............. the stolen goods in his backpack, but was caught by the security guard.
a) do without b) deserve c) bestow d) conceal

3- There are several restaurants in the .................... of the hotel where you can go for dinner.

a) expectation b) vicinity c) commentary d) affection

4- Long car rides can make some people................ , especially if they are sitting in the back seat.

a) integral b) cardiovascular c) drowsy d) vigorous

A) From a, b, and ¢, choose what is required: (4 x 5 = 20 Marks )

1- Hassan prefers vanilla in his ice-cream. He prefers chocolate in his ice-cream. (Use: both...and)
a) Hassan prefer both vanilla and chocolate in his ice-cream.

b) Hassan prefers both vanilla and chocolate in his ice-cream.

c) Hassan doesn’t prefer both vanilla and chocolate in his ice-cream.

2- You'd better do ( away with ) your boots tightly to stop the sand from getting in. ( Correct)
a) You’'d better do up for your boots tightly to stop the sand from getting in

b) You'd better do up your boots tightly to stop the sand from getting in

c) You’d better do without your boots tightly to stop the sand from getting in

3- “My plane leaves at four o’clock in the afternoon.” ( Reported speech )
a) Naif said that his plane will leave at four o’clock in the afternoon.

b) Naif said that my plane left at four o’clock in the afternoon.

c¢) Naif said that his plane left at four o’clock in the afternoon.

4- “What time do you have to be here?” ( Reported speech )
a) Nawwaf asked Naif what time | had to be there.

b) Nawwaf asked Naif what time he has to be there.

c) Nawwaf asked Naif what time he had to be there.
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Expository paragraph:
“Sleep is essential for maintaining a good health.”

Plan and write one paragraph of (6 sentences) discussing the importance of sleep for a
person.

QOutline ( 5 Marks )

Introductory sentence:

My Topic ( 35 Marks )




A) From a, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- Some people think that ..................... homes provide a safe environment for the elderly.
a.supple b. onerous c. geriatric d. integral
2- It's best to resolve a/an .................. amicably rather than going to courts for legal actions.
a. commentary b. vicinity C. excuse d. dispute

3- The little girl loves to .................. her own songs and sing them to her family and friends.
a. make up for b. make up c. do without d. do up

&= nnaninl.. kidney diseases are common conditions, particularly among old people.

a. Restful b. Chronic c. Shallow d. Due

A) From a, b, and ¢, choose what is required: (4 x 5 = 20 Marks )

1- If you want to lose weight, you should do exercises and you should go on a diet. (Join with: both...)
a) If you want to lose weight, you should both do exercises and go on a diet.

b) If you want to lose weight, you should do exercises both and go on a diet.

c) If you want to lose weight, you should both do exercises or go on a diet.

2- She lost my CD, but she’s bought me a new one to make ( away with ) it. (Correct the preposition)
a) She lost my CD, but she’s bought me a new one to make of it.

b) She lost my CD, but she’s bought me a new one to make up for it.

c) She lost my CD, but she’s bought me a new one to make up it.

3- “Did you enjoy your holiday?” (Reported speech)
a) Hessa asked Noura whether she enjoys her holiday.

b) Hessa asked Noura whether she had enjoyed her holiday.

c) Hessa asked Noura whether she was enjoying her holiday.

4- “Yes, it was very relaxing.” (Reported speech)
a) Salma said that it had been very relaxing.
b) Salma said that it has been very relaxing.
c) Salma said that it would be very relaxing.
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Expository paragraph:
“ Longevity is not only avoiding stress but also many bad habits.”

Plan and write one paragraph of ( 6 sentences ) discussing how can a person enjoy a long
life?

Outline ( 5 Marks )

My Topic ( 35 Marks )
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A) From a, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- Can you please ................ the events of last night's party? I'm curious to know what happened.
a) pluck up the courage b) reverse c) bump into d) narrate

2= 1 \NAS e ansss s when | fell in the middle of the crowded street.

a) advantageous b) embarrassed C) socioeconomic d) graduated

3- The loud noise from the construction site caused a/an ...........ceeeuuee. for the residents.

a) disturbance b) unemployment c) glamour d) almond

4- She is fluent in Arabic and can easily translate from Arabic to English, and............cccevee....

a) frequently b) densely c) vice versa d) customarily

A) From a, b, and c , choose what is required: (4 x 5 = 20 Marks )
1- The old textbooks had old information. The new ones have more up-to-date information.
( Use: In comparison with )
a) In comparison with the old textbooks, the new ones have more up-to-date information.
b) In comparison with the old textbooks . The new ones have more up-to-date information.
c) In comparison with the old textbooks, the new ones don’t have more up-to-date information.

2- He had finished his breakfast .He received a phone call from his boss. ( Use: Hardly...)
a) Hardly had he finished his breakfast than he received a phone call from his boss.

b) Hardly did he finish his breakfast when he received a phone call from his boss.

c) Hardly had he finished his breakfast when he received a phone call from his boss.

3- The park, ( whose ) | play football, is famous throughout the country. ( Correct)
a) The park, where | play football, is famous throughout the country.

b) The park, which | play football, is famous throughout the country.

c) The park, when | play football, is famous throughout the country.

- had he arrived home than he realized he had left his phone at the office. =~ ( Complete)
a) Scarcely had he arrived home than he realized he had left his phone at the office.

b) Barely had he arrived home than he realized he had left his phone at the office.

c) No sooner had he arrived home than he realized he had left his phone at the office.

Y. YNohamed (Imran




Argumentative paragraph:

“The city is not a romantic place. It's a place to make money."

Plan and write one paragraph of ( 6 sentences ) discussing the two views around city life
and you should state your own opinion.

Outline ( 5 Marks )

Introductory sentence:

The main idea: The two views around city life:

Concluding sentence:

My Topic ( 35 Marks )




A) From 3, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- COVID 19 has caused a terrible increase in .......cccceveeenen. rates all over the world.

a) infrastructure b) unemployment c) hub d) disturbance

2- He hit the brakes and tried to .................... the car, but it was too late to avoid the accident.

a) narrate b) pluck up the courage c) reverse d) bump into

3- The hotel had a/an .................. meeting room that could host events for up to a thousand guests.
a) rural b) astounded c) leafy d) palatial

4- The forest was ................ packed with trees, so it was difficult to see more than a few feet ahead.
a) densely b) frequently c) customarily d) vice versa

A) From a, b, and ¢, choose what is required: (4 x 5 = 20 Marks )

1~ S0 delicious mirinansd that we ate every last bite. ( Complete )
a) So delicious was the food that we ate every last bite.

b) So delicious the food was that we ate every last bite.

c) So delicious wasn’t the food that we ate every last bite.

2- | rarely have such a good story to narrate. ( Begin with: Rarely )
a) Rarely have | such a good story to narrate.

b) Rarely | do have such a good story to narrate.

c) Rarely do | have such a good story to narrate.

3- The city is home to over 250,000 people. It is very polluted, (Join with: which )
a) The city, which is very polluted, it is home to over 250,000 people.

b) The city, which is very polluted, is home to over 250,000 people.

c¢) The city, which it is very polluted, is home to over 250,000 people.

4- |'ve decided to learn Chinese at the university. | won’t learn French. (Join with: instead of...)
a) I've decided to learn Chinese at university instead of French.

b) I've decided to learn Chinese at university instead of | won’t learn French.

c) I've decided to learn Chinese at university instead of not learning French.



Argumentative paragraph:

"A good resort is a place where you can relax, recharge your spirit.”

Plan and write one paragraph of ( 6 sentences ) discussing why are some people with living
in a busy tourist resort while others are against that, you have to state your opinion.

Outline ( 5 Marks )

Introductory sentence :

The main idea : The two views around living in a busy tourist resort :

Concluding sentence:

My Topic ( 35 Marks )
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A) From 3, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- The hotel’s location in the city centre was .........ccccceu.ee. for attracting tourists.

a) advantageous b) socioeconomic c) astounded d) rural

2- We were shopping in the Avenues when we ...................... a group of old friends.

a) reversed b) narrated c) made it our own d) bumped into

3- Tokyo is an active ...........ceeeeeenene known for its crowded streets, and innovative technology.

a) metropolis b) depopulation c) export d) almond

4- The village town became .................. after the factory closed down and the residents moved away.
a) embarrassed b) deserted c) leafy d) graduated

A) From a, b, and ¢, choose what is required: (4 x 5 = 20 Marks )

1- | little expected to bump into my hero. ( Inversion )
a) Little did | expected to bump into my hero.

b) Little did | expect to bump into my hero.

c) Little had | expected to bump into my hero.

2- Chinese grammar is not too difficult . ........ , the pronunciation will be very hard for me.
§ ( Complete)
a) Chinese grammar is not too difficult . Whereas, the pronunciation will be very hard for me.
b) Chinese grammar is not too difficult . However, the pronunciation will be very hard for me.
c) Chinese grammar is not too difficult .In comparison with, the pronunciation will be very hard for me.

3- Hardly had the plane taken off when the passengers ( feel ) some turbulence.( Correct the verb )
a) Hardly had the plane taken off when the passengers felt some turbulence.

b) Hardly had the plane taken off when the passengers was felt some turbulence.

c) Hardly had the plane taken off when the passengers are feeling some turbulence.

4- She only now understood the problem. ( Begin with: Only now... )
a) Only now did she understand the problem.

b) Only now did she understood the problem.

c) Only now did she has understood the problem.
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Expository paragraph:

"City life is millions of people being lonely together."

Plan and write one paragraph of ( 6 sentences ) discussing; How can we make our cities less
stressful?

Outline ( 5 Marks )

Introductory sentence.

The main idea: How can we make our cities less stressful?

Concluding sentence:

My Topic ( 35 Marks )
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A) From 3, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- DroAlLisalan ..o surgeon, with years of experience and a fine reputation among his friends.
a) autograph b) beverage c) competent d) circumstances

2- The teacher decided to ................ from her position due to the stress and workload.

a) instant b) resign c) immediate d) sickly

3- Our school library had a section for .................. of famous individuals from around the world.

a) biographies b) degrees c) parliaments d) ministers

4- In many cultures, itis .......cccevvvvnens expected to remove one's shoes before entering one's home.

a) densely b) vice versa c) customarily d) seamlessly

A) From a, b, and ¢, choose what is required: (4 x 5 = 20 Marks )

1- | find watching sport very ( enjoy ). ( Add the suitable suffix )
a) | find watching sport very enjoyment.

b) | find watching sport very enjoyed.

c) | find watching sport very enjoyable.

2- He isn’t going to take his own photo. ( Causative )
a) He is going to have his photo taken.

b) He has had his photo taken.

c) He is having his photo taken.

3- My father has his car ( clean ). ( Correct the verb )
a) My father has his car cleans.

b) My father has his car cleaned.

c) My father has his car had cleaned.

4- | used to earn little money. ( Make Negative )
a) | didn’t use to earn little money.

b) I didn’t used to earn little money.

c) | didn’t use earn little money.
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Argumentative paragraph:

"We 1ive in a world where everyone is connected but nobody 1is
communicating.”

Plan and write one paragraph of ( 6 sentences ) presenting the two views around living a
modern lifestyle and you should state your own opinion.

QOutline ( 5 Marks )

Introductory sentence:

The main idea : The two views around living a modern lifestyle :

Concluding sentence:

My Topic ( 35 Marks )
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A) From 3, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- HIS highness the Amir has the powerto ..................... judges in all the Kuwaiti courts.

a) resign b) put to c) appoint d) fix

2- Spreading rumors is a/an .........ceeveveeee behavior that can harm others' reputations.

a) ungentlemanly b) mass produced c) custom made d) unique

3- The carpenter used his .........ccouene.. to make custom-made furniture for his clients.

a) cookery b) portfolio c) biography d) workshop

4-The siveeeivinnnes of Foreign Affairs is meeting with leaders from other countries to discuss some issues.
a) parliament b) minister c) snooker d) bill

gt >

A) From a, b, and ¢, choose what is required: (4 x 5 = 20 Marks )

1- | used to eat too much fatty food, but now | .........cc.ceee.en. ( Complete)
a) | used to eat too much fatty food, but now | didn’t.

b) I used to eat too much fatty food, but now | don’t.

c) l used to eat too much fatty food, but now | doesn’t.

2- | ( make ) two mistakes in the last quiz. ( Correct the verb )
a) | will make two mistakes in the last quiz.

b) | made two mistakes in the last quiz.

c) | have been making two mistakes in the last quiz.

3- The hairdresser cut my hair in a completely different style. ( Causative )
a) | had my hair cut in a completely different style.

b) I have my hair cut in a completely different style.

c) | had had my hair cut in a completely different style.

4- The shop will deliver the food for me. ! ( Causative )
a) | have the food delivered for me.

b) | will have the food deliver for me.

c) I will have the food delivered for me.
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Argumentative paragraph:
"Education is the passport to the future.”

Plan and write one paragraph of ( 6 sentences ) by presenting the debate over use of online
education compared to traditional classroom education and state your opinion.

Outline ( 5 Marks )

Introductory sentence:

The main idea : Online education vs traditional classroom education :

Concluding sentence:

My Topic ( 35 Marks )

T v boemeiOwe



A) From 3, b, c and d choose the most suitable word that completes the sentences:(4x5=20)

1- The performance of the team was.................... , so they lost the game.

a) call the shots b) below par c) toe the line d) neck and neck
2- The mechanic is working hard to .................... the engine of my car.

a) fix b) put to c) resign d) appoint

3- Sally’s wedding dress was ...........cc.ceoe. to fit her size perfectly.

a) competent b) immobile c) ungentlemanly d) custom-made
4- Hessa received her.......ccccceveeeeenen. in education from a prestigious university.

a) doctorate b) minister c) biography d) cookery

A) From a, b, and c, choose what is required: (4 x 5 = 20 Marks )

1- Some pastimes are not ( fashion ) any more.. ( Add the suitable suffix )
a) Some pastimes are not fashionable any more.

b) Some pastimes are not fashionist any more.

c) Some pastimes are not fashionably any more.

2- A decorator has repainted our house. ( Causative )
a) We have our house repainted.

b) We had our house repainted.

c) We have had our house repainted.

3- My washing machine is broken; I need to have it ........... ( Complete )
a) My washing machine is broken; I need to have it repairs.

b) My washing machine is broken; I need to have it repaired.

c) My washing machine is broken; I need to have it be repaired.

4- | used to have too many friends. ( Ask a question)
a) How many friends did you used to have ?

b) How many friends did you use to have ?

c) How many friends do you use to have ?
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Expository paragraph:
“ ALl work and no play makes Jack a dull boy."

Plan and write one paragraph of ( 6 sentences ) discussing the leisure activities people
enjoyed in the past and the ones they enjoy nowadays.

Outline ( 5 Marks )

Introductory sentence:

The main idea: Leisure activities in the past and nowadays:

Concluding sentence:

My Topic ( 35 Marks )
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